Sioi2] N A

.-:Ji S 2 X — .‘"

: e h. .‘.; ‘-am..4 il
[P = & i : —— ‘F
i 0 500 . 1,000m - s
' ' 300

1/25,000 = =

3 \‘\‘\ S = ”~ / ‘.’/,‘,
COMEE. B EREORREET. ARETORIE NN =

H#h 125000 (ML EHR) R L1-H D TH 5. ‘ :

(RREBEES F19#15. F£11978)

ERRROEE |2RFORE
RiBES 51012 =
XI5 % P A —
AT 7 SROHR I i B P 5 T S A 40 X = ‘
50 100m
1/2500
THKEER X
LRy TREOBE SN IMUTOES. TAE
ke DFEHNIZLDHH100kN/ mMERZ B X 5

& At - BEIZLDHDRKIBEKN/m) 162.3
H = THREDHBEOSINIMEEZ X BHEDHEAM) 1.0
. WRBICKDNDHERKRIEKN/M) 204
R ThARORE R B OB 20






